## **BID SUMMARY**

## TITLE: 2022 CORRECTIVE/PREVENTATIVE MAINTENANCE ON:

GOOSE ROAD, CR 640, FROM M.P. 0.00 TO M.P. 1.20, PRIMROSE DRIVE, CR 604, FROM M.P. 0.00 TO M.P. 4.60, POPPY DRIVE, CR 623, FROM M.P. 0.00 TO M.P. 3.24, LILAC ROAD, CR 605, FROM M.P. 0.00 TO M.P. 1.43, DAPHNE WAY, CR 608, FROM M.P. 0.00 TO M.P. 0.85 CONTRACT NO.:

220000

MENDOCINO

ROUTE: Mulitple

DISTRICT: COUNTY:

ADVERTISE DATE: APRIL 5, 2022

BID OPENING DATE: May 3, 2022

PREPARED BY: William Wood William E. Wood DATE: 5/4/2022

CHECKED BY: Rygg Larsen

DATE: 5/4/2022

					Reddi	Paving, Inc. ng, CA. D. 1	ENGINEERS	ESTIMATE	VSS Interna West Sacra NO	mento, CA
	☆ =	Corrected Amount		DBE GOAL:	1	% ,	0'		09	<b>%</b>
ITEM	ITEM	BASE BID, Primre		CR 604, Levelir		ble Chip Seal, M.P	. 0.00 TO M.P. 1.43	3		
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT	AMOUNT	UNIT PRICE	AMOUNT	UNIT	AMOUNT
1		MOBILIZATION	LS	1.0	\$158,000.00		\$270,000.00	\$270,000.00	\$127,102.43	
2		DEVELOP WATER SUPPLY	LS	1.0	\$25,000.00	\$25,000.00	\$24,000.00	\$24,000.00	\$127,102.43	\$127,102.43 \$50,220.00
3		CONSTRUCTION AREA SIGNS	LS	1.0	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$18,640.00	\$18,640.00
4		TRAFFIC CONTROL SYSTEM	LS	1.0	\$126,000.00	\$126,000.00		\$240,000.00	\$111,649.40	\$111,649.40
5		PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1.0	\$2,500.00	\$2,500.00	\$14,000.00	\$14,000.00	\$11,075.38	\$11,075.38
6	378000	TYPE III, MICRO-SURFACING LEVELING COURSE	SQYD	74,884.0	\$5.25	\$393,141.00	\$8.00	\$599,072.00	\$4.20	\$314,512.80
		POLYMER ASPHALTIC EMULSION								
7		(chip seal, .3045 gal/sqyd)	TON	109.0	\$1,120.00	\$122,080.00	\$926.00	\$100,934.00	\$820.00	\$89,380.00
8	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	SQYD	74,884.0	\$1.00	\$74,884.00	\$3.00	\$224,652.00	\$1.90	\$142,279.60
		POLYMER ASPHALTIC EMULSION			4					
10		(chip seal, .2030 gal/sqyd)	TON	94.0	\$1,120.00	\$105,280.00	\$926.00	\$87,044.00	\$820.00	\$77,080.00
11		SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	SQYD	74,884.0	\$1.00 \$0.68	\$74,884.00	\$2.60	\$194,698.40	\$1.80	\$134,791.20
12		PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	LF	24,288.5 48,577.0	\$0.88	\$16,516.18 \$14,573.10	\$0.35 \$0.30	\$8,500.98	\$0.89	\$21,616.77
13		PAINT PAVEMENT MARKINGS	SQFT	43.0	\$4.00	\$14,573.10	\$24.50	\$14,573.10 \$1,053.50	\$0.72 \$6.32	\$34,975.44 \$271.76
	010000	4		MROSE ROAD:	54.00	\$1,118,030.28	\$24.50	\$1,783,527.98	30.32	\$1,133,594.78
	Lilac Road, CR 605, Levelin				e with Double Chir		O M P 1 //3	\$1,763,327.38	L	\$1,133,334.76
ITEM	ITEM	Litat Noa	UNIT	ESTIMATED	2 satur Double City	- 23ui, 17iiF i 0:00 IV	UNIT	· 1	UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
14	378000	TYPE III, MICRO-SURRFACING LEVELING COURSE	SQYD	23,042.0	\$5.25	\$120,970.50	\$8.00	\$184,336.00	\$4.20	\$96,776.40
		POLYMER ASPHALTIC EMULSION				7,000	70.00	<b>410 1/000.00</b>	¥ 1120	400,770710
15	374493	(chip seal, .3045 gal/sqyd)	TON	34.0	\$1,120.00	\$38,080.00	\$926.00	\$31,484.00	\$820.00	\$27,880.00
16	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	SQYD	23,042.0	\$1.00	\$23,042.00	\$3.00	\$69,126.00	\$1.90	\$43,779.80
		POLYMER ASPHALTIC EMULSION					,			
17		(chip seal, .2030 gal/sqyd)	TON	29.0	\$1,120.00	\$32,480.00	\$926.00	\$26,854.00	\$820.00	\$23,780.00
18		SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	23,042.0	\$1.00	\$23,042.00	\$2.60	\$59,909.20	\$1.80	\$41,475.60
19		PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	LF	7,615.0	\$0.68	\$5,178.20	\$0.35	\$2,665.25	\$0.89	\$6,777.35
20 21		PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS	LF	15,230.0	\$0.30	\$4,569.00	\$0.30	\$4,569.00	\$0.72	\$10,965.60
21	840000	PAINT PAVEIVIENT WARKINGS	SQFT	139.0	\$4.00	\$556.00	\$24.50	\$3,405.50	\$6.32	\$878.48
		Down Pos		L LILAC ROAD:		\$247,917.70	[	\$382,348.95		\$252,313.23
ITÉM	ITEM	Горру коа	u, CK 025	, Leveling cour:						
NO.				ESTIMATED	se with Double Chi	p Sear, IVI.P. U.UU I		l l	UNIT	
22	CODE	ITEM DESCRIPTION	UNIT	ESTIMATED OUANTITY			UNIT	AMOUNT	UNIT	AMOUNT
11 ZZ I	37800	ITEM DESCRIPTION  TYPE III. MICRO-SURREACING LEVELING COURSE	UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT \$436,640,00	PRICE	AMOUNT \$229,236,00
22	37800	TYPE III, MICRO-SURRFACING LEVELING COURSE	UNIT				UNIT	<b>AMOUNT</b> \$436,640.00		<b>AMOUNT</b> \$229,236.00
23	37800		UNIT	QUANTITY	UNIT PRICE \$5.25	<b>AMOUNT</b> \$286,545.00	UNIT PRICE \$8.00	\$436,640.00	\$4.20	\$229,236.00
	37800 374493	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)	UNIT CODE SQYD	54,580.0	UNIT PRICE	AMOUNT	UNIT PRICE		\$4.20 \$820.00	\$229,236.00 \$65,600.00
23	37800 374493 375001	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION	UNIT CODE SQYD TON	<b>QUANTITY</b> 54,580.0 80.0	UNIT PRICE \$5.25 \$1,120.00	\$286,545.00 \$89,600.00	\$8.00 \$926.00	\$436,640.00 \$74,080.00	\$4.20	\$229,236.00
23 24 25	37800 374493 375001 374493	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)	UNIT CODE SQYD TON SQYD	80.0 54,580.0 68.0	\$5.25 \$1,120.00 \$1.00 \$1,120.00	\$286,545.00 \$89,600.00 \$54,580.00 \$76,160.00	\$8.00 \$926.00	\$436,640.00 \$74,080.00	\$4.20 \$820.00	\$229,236.00 \$65,600.00
23 24 25 26	37800 374493 375001 374493 375001	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	TON SQYD TON SQYD TON SQYD	80.0 54,580.0 54,580.0 68.0 54,580.0	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,120.00 \$1.00	\$286,545.00 \$89,600.00 \$54,580.00 \$76,160.00 \$54,580.00	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60	\$436,640.00 \$74,080.00 \$163,740.00	\$4.20 \$4.20 \$820.00 \$1.90	\$229,236.00 \$65,600.00 \$103,702.00
23 24 25 26 27	37800 374493 375001 374493 375001 840656	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	TON SQYD TON SQYD TON SQYD TON SQYD LF	80.0 54,580.0 54,580.0 68.0 54,580.0 17,188.0	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,120.00 \$1.00 \$0.68	\$286,545.00 \$89,600.00 \$54,580.00 \$76,160.00 \$54,580.00 \$11,687.84	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32
23 24 25 26 27 28	37800 374493 375001 374493 375001 840656 840656	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	TON SQYD TON SQYD TON SQYD LF LF	80.0 54,580.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,00 \$0.68 \$0.30	\$89,600.00 \$89,600.00 \$54,580.00 \$76,160.00 \$54,580.00 \$11,687.84 \$	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72
23 24 25 26 27	37800 374493 375001 374493 375001 840656 840656	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	TON SQYD TON SQYD TON SQYD TON SQYD LF LF SQFT	80.0 54,580.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,120.00 \$1.00 \$0.68	### \$10,312.80  ###################################	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04
23 24 25 26 27 28	37800 374493 375001 374493 375001 840656 840656	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS	TON SQYD TON SQYD TON SQYD LF LF SQFT TOTAL	QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD:	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,00 \$0.68 \$0.30 \$4.00	### \$10,312.80  ### \$10,812.80  ### \$10,812.80  ### \$10,812.80  ### \$10,88.00  ### \$584,553.64	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72
23 24 25 26 27 28 29	37800 374493 375001 374493 375001 840656 840666	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS	TON SQYD TON SQYD TON SQYD LF LF SQFT TOTAL ty, CR 608	QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: , Leveling cours	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,00 \$0.68 \$0.30	### \$10,312.80  ### \$10,812.80  ### \$10,812.80  ### \$10,812.80  ### \$10,88.00  ### \$584,553.64	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04
23 24 25 26 27 28 29	37800 374493 375001 374493 375001 840656 840666	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS	TON SQYD TON SQYD TON SQYD LF LF SQFT TOTAL TOTAL TY, CR 608	80.0 54,580.0 54,580.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: Leveling cour	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,00 \$0.68 \$0.30 \$4.00	\$286,545.00 \$89,600.00 \$54,580.00 \$76,160.00 \$54,580.00 \$11,687.84 ★ \$10,312.80 \$1,088.00 \$584,553.64 p Seal, M.P. 0.00	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60	\$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08
23 24 25 26 27 28 29 ITEM NO.	37800 374493 375001 374493 375001 840656 840666	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Wa	TON SQYD TON SQYD LF LF SQFT TOTAL TOTAL TODE	QUANTITY  54,580.0  80.0  54,580.0  68.0  54,580.0  17,188.0  34,376.0  272.0  POPPY ROAD: Leveling courestimated QUANTITY	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,00 \$0.68 \$0.30 \$4.00 se with Double Ch	\$89,600.00 \$89,600.00 \$54,580.00 \$76,160.00 \$54,580.00 \$11,687.84 \$\$10,312.80 \$1,088.00 \$584,553.64 p Seal, M.P. 0.00	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50 TO M.P. 0.85 UNIT - PRICE	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60	\$820.00 \$1.90 \$1.80 \$0.89 \$0.72 \$6.32	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08
23 24 25 26 27 28 29	37800 374493 375001 374493 375001 840656 840666 ITEM CODE 37800	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Wa	TON SQYD TON SQYD TON SQYD LF LF SQFT TOTAL TOTAL TY, CR 608	80.0 54,580.0 54,580.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: Leveling cour	\$5.25 \$1,120.00 \$1.00 \$1,120.00 \$1,00 \$0.68 \$0.30 \$4.00	\$286,545.00 \$89,600.00 \$54,580.00 \$76,160.00 \$54,580.00 \$11,687.84 ★ \$10,312.80 \$1,088.00 \$584,553.64 p Seal, M.P. 0.00	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60	\$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08
23 24 25 26 27 28 29 ITEM NO. 30	37800 374493 375001 374493 375001 840656 840666 ITEM CODE 37800	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, .23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Water Course of the course of th	TON SQYD TON SQYD LF LF SQFT SQFT UNIT CODE SQYD	80.0 54,580.0 54,580.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: Leveling cour ESTIMATED QUANTITY 14,340.0	\$1,120.00 \$1,00 \$1,120.00 \$1,00 \$1,120.00 \$0.68 \$0.30 \$4.00 \$4.00 UNIT PRICE \$5.25	## AMOUNT  \$286,545.00  \$89,600.00  \$54,580.00  \$76,160.00  \$54,580.00  \$11,687.84  ★\$10,312.80  \$1,088.00  \$584,553.64  p Seal, M.P. 0.00  ## AMOUNT  \$75,285.00	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50 \$UNIT	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60 AMOUNT \$114,720.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08 AMOUNT \$60,228.00
23 24 25 26 27 28 29 ITEM NO. 30	37800 374493 375001 374493 375001 840656 840666 ITEM CODE 37800	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Water Course of the	TON SQYD TON SQYD LF LF SQFT TOTAL TOTAL TODE SQYD UNIT CODE SQYD TON	QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: Leveling cour ESTIMATED QUANTITY 14,340.0	\$1,120.00 \$1,00 \$1,120.00 \$1,00 \$1,120.00 \$0.68 \$0.30 \$4.00 se with Double Chi UNIT PRICE \$5.25 \$1,120.00	## AMOUNT  \$286,545.00  \$89,600.00  \$54,580.00  \$76,160.00  \$54,580.00  \$11,687.84  \$10,312.80  \$1,088.00  \$584,553.64  p Seal, M.P. 0.00  ## AMOUNT  \$75,285.00  \$23,520.00	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50 \$0.00 \$24.50 \$0.00 \$24.50 \$0.00	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60 AMOUNT \$114,720.00 \$19,446.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32 UNIT PRICE \$4.20 \$820.00	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08 AMOUNT \$60,228.00 \$17,220.00
23 24 25 26 27 28 29 ITEM NO. 30	37800 374493 375001 374493 375001 840656 840666 ITEM CODE 37800 374493 375001	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, .23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Water Course of the course of th	TON SQYD TON SQYD LF LF SQFT SQFT UNIT CODE SQYD	80.0 54,580.0 54,580.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: Leveling cour ESTIMATED QUANTITY 14,340.0	\$1,120.00 \$1,00 \$1,120.00 \$1,00 \$1,120.00 \$0.68 \$0.30 \$4.00 \$4.00 UNIT PRICE \$5.25	## AMOUNT  \$286,545.00  \$89,600.00  \$54,580.00  \$76,160.00  \$54,580.00  \$11,687.84  ★\$10,312.80  \$1,088.00  \$584,553.64  p Seal, M.P. 0.00  ## AMOUNT  \$75,285.00	\$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50 \$UNIT	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60 AMOUNT \$114,720.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08 AMOUNT \$60,228.00
23 24 25 26 27 28 29 ITEM NO. 30	37800 374493 375001 374493 375001 840656 840666 ITEM CODE 37800 374493 375001	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Water of the county	TON SQYD TON SQYD LF LF SQFT TOTAL TOTAL TODE SQYD UNIT CODE SQYD TON	QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: , Leveling cour ESTIMATED QUANTITY 14,340.0 21.0 14,340.0	\$5.25 \$1,120.00 \$1.00 \$1,10.00 \$1.00 \$0.68 \$0.30 \$4.00 Se with Double Ch UNIT PRICE \$5.25 \$1,120.00 \$1.00	## AMOUNT  \$286,545.00  \$89,600.00  \$54,580.00  \$76,160.00  \$54,580.00  \$11,687.84  \$10,312.80  \$1,088.00  \$584,553.64  p Seal, M.P. 0.00  ## AMOUNT  \$75,285.00  \$23,520.00  \$14,340.00	UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50  TO M.P. 0.85 UNIT PRICE \$8.00 \$926.00 \$3.00	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60 AMOUNT \$114,720.00 \$43,020.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32 UNIT PRICE \$4.20 \$820.00 \$1.90	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08 AMOUNT \$60,228.00 \$17,220.00 \$27,246.00
23 24 25 26 27 28 29 ITEM NO. 30 31 32	37800 374493 375001 37493 375001 840656 840666 ITEM CODE 37800 374493 375001	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Wa  ITEM DESCRIPTION TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION	TON SQYD TON SQYD TON SQYD LF LF SQFT TOTAL TOTAL TODE SQYD TON SQYD	QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: Leveling cour ESTIMATED QUANTITY 14,340.0	\$1,120.00 \$1,00 \$1,120.00 \$1,00 \$1,120.00 \$0.68 \$0.30 \$4.00 se with Double Chi UNIT PRICE \$5.25 \$1,120.00	### AMOUNT  \$286,545.00  \$89,600.00  \$54,580.00  \$76,160.00  \$54,580.00  \$11,687.84  \$\$10,312.80  \$1,088.00  \$584,553.64  p Seal, M.P. 0.00  #### AMOUNT  \$75,285.00  \$23,520.00  \$14,340.00  \$20,160.00	UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50  TO M.P. 0.85 UNIT PRICE \$8.00 \$926.00 \$926.00 \$926.00	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60 AMOUNT \$114,720.00 \$19,446.00 \$43,020.00 \$16,668.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32 UNIT PRICE \$4.20 \$820.00 \$1.90	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$1,719.04 \$594,309.08 AMOUNT \$60,228.00 \$17,220.00 \$27,246.00
23 24 25 26 27 28 29 IITEM NO. 30 31 32	37800 374493 375001 37493 375001 840656 840656 840666 ITEM CODE 37800 374493 375001	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Wa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)	TON SQYD TON SQYD TON SQYD LF LF SQFT TOTAL TOTAL TODE SQYD TON SQYD TON TON	QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: , Leveling cour ESTIMATED QUANTITY 14,340.0 14,340.0	\$1,120.00 \$1,00 \$1,00 \$1,00 \$0.68 \$0.30 \$4.00 UNIT PRICE \$5.25 \$1,120.00 \$1,00	## AMOUNT  \$286,545.00  \$89,600.00  \$54,580.00  \$76,160.00  \$54,580.00  \$11,687.84  \$10,312.80  \$1,088.00  \$584,553.64  p Seal, M.P. 0.00  ## AMOUNT  \$75,285.00  \$23,520.00  \$14,340.00	UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50  TO M.P. 0.85 UNIT PRICE \$8.00 \$926.00 \$3.00	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$6,015.80 \$6,664.00 \$902,328.60 AMOUNT \$114,720.00 \$19,446.00 \$43,02.00 \$16,668.00 \$37,284.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32 UNIT PRICE \$4.20 \$820.00 \$1.90 \$820.00 \$1.80	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08 AMOUNT \$60,228.00 \$17,220.00 \$27,246.00
23 24 25 26 27 28 29 ITEM NO. 30 31 32 33 34 35 36	37800 374493 375001 374493 375001 840656 840666 ITEM CODE 37800 374493 375001 840656 840656	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, .23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Water of the company of the course polymer asphaltic emulsion (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, .23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, .23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, .23-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	UNIT CODE SQYD TON SQYD LF LF SQFT TOTAL TOTAL SQYD TON SQYD TON SQYD TON SQYD TON SQYD TON SQYD	QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: , Leveling cour ESTIMATED QUANTITY 14,340.0 14,340.0 18.0 14,340.0	\$1,120.00 \$1,00 \$1,00 \$1,00 \$1,00 \$0.68 \$0.30 \$4.00 \$E with Double Ch UNIT PRICE \$5.25 \$1,120.00 \$1,120.00 \$1,120.00 \$1,00	### AMOUNT  \$286,545.00  \$89,600.00  \$54,580.00  \$76,160.00  \$54,580.00  \$11,687.84  \$10,312.80  \$1,088.00  \$584,553.64  p Seal, M.P. 0.00 1  #### AMOUNT  \$75,285.00  \$23,520.00  \$14,340.00  \$20,160.00  \$14,340.00	UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50  TO M.P. 0.85 UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$3.00	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60 AMOUNT \$114,720.00 \$19,446.00 \$43,020.00 \$16,668.00	\$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32 UNIT PRICE \$4.20 \$820.00 \$1.90	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$1,719.04 \$594,309.08 AMOUNT \$60,228.00 \$17,220.00 \$27,246.00 \$25,812.00
23 24 25 26 27 28 29 ITEM NO. 30 31 32 33 34	37800 374493 375001 374493 375001 840656 840666 ITEM CODE 37800 374493 375001 840656 840656	TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Wa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	TON SQYD LF LF SQYT TOTAL TOTAL SQYD TON SQYD LF LF SQT TOTOTAL SQYD TON SQYD TON SQYD TON SQYD TON SQYD LF	QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: Leveling cour ESTIMATED QUANTITY 14,340.0 14,340.0 18.0 14,340.0 4,469.0	\$1,120.00 \$1,00 \$1,00 \$1,00 \$1,00 \$1,00 \$0.68 \$0.30 \$4.00 \$1,100 \$5.25 \$1,120.00 \$1,120.00 \$1,120.00 \$1,00 \$0.68	## AMOUNT  \$286,545.00  \$89,600.00  \$54,580.00  \$76,160.00  \$54,580.00  \$11,687.84  \$10,312.80  \$1,088.00  \$584,553.64  p Seal, M.P. 0.00  ## AMOUNT  \$75,285.00  \$23,520.00  \$14,340.00  \$20,160.00  \$14,340.00  \$3,038.92	UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50  TO M.P. 0.85 UNIT - PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$3.00 \$926.00 \$3.00 \$926.00 \$3.00	\$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$6,015.80 \$902,328.60 AMOUNT \$114,720.00 \$43,020.00 \$43,020.00 \$37,284.00 \$1,564.15	\$820.00 \$1.90 \$820.00 \$1.80 \$0.89 \$0.72 \$6.32 UNIT PRICE \$4.20 \$820.00 \$1.90 \$820.00 \$1.80 \$0.89	\$229,236.00 \$65,600.00 \$103,702.00 \$55,760.00 \$98,244.00 \$15,297.32 \$24,750.72 \$1,719.04 \$594,309.08 AMOUNT \$60,228.00 \$17,220.00 \$27,246.00 \$25,812.00 \$3,977.41

Goose Road, CR 640, Pulverize roadbed, grade, and con				Northwest I Reddin NO	g, CA. ). 1	ENGINEERS		VSS International, Inc. West Sacramento, CA NO. 2		
ITEM NO.	ITEM CODE	ITEM DESCRIPTION	UNIT CODE	ESTIMATED  QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
38	303000	PULVERIZED ROADBED	SQYD	21,316.0	\$4.50	\$95,922.00	\$10.40	\$221,686.40	\$7.88	\$167,970.08
		POLYMER ASPHALTIC EMULSION								
39	374493	(chip seal, .3045 gal/sqyd)	TON	31.0	\$1,120.00	\$34,720.00	\$926.00	\$28,706.00	\$820.00	\$25,420.00
40	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	SQYD	21,316.0	\$1.00	\$21,316.00	\$3.00	\$63,948.00	\$1.90	\$40,500.40
		POLYMER ASPHALTIC EMULSION								
41	374493	(chip seal, .2030 gal/sqyd)	TON	27.0	\$1,120.00	\$30,240.00	\$926.00	\$25,002.00	\$820.00	\$22,140.00
42	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	21,316.0	\$1.00	\$21,316.00	\$2.60	\$55,421.60	\$1.80	\$38,368.80
43	840656	PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	LF	6,334.0	\$0.68	\$4,307.12	\$0.35	\$2,216.90	\$0.89	\$5,637.26
44	840656	PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	LF	12,668.0	\$0.30	\$3,800.40	\$0.30	\$3,800.40	\$0.72	\$9,120.96
45	840666	PAINT PAVEMENT MARKINGS	SQFT	191.0	\$4.00	\$764.00	\$24.50	\$4,679.50	\$6.32	\$1,207.12
		TOTAL GOO	OSE ROAD (I	Base Bid only):	\$212,385.52		\$405,460.80		\$310,364.62	
		TOTAL CONTRACT W	ITH BASE	BID ONLY:	,	<b>☆</b> \$2,316,796.46	\$3,712,381.88		\$2,447,120.00	

	BID ADDITIVE 1, Goose Road, CR 640, Pulverize roadbed, grade, compact and 3" compacted HMA wearing course, M.P. 0.00 TO M.P. 1.20												
ITEM	ITEM		UNIT	ESTIMATED				UNIT		UNIT			
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE		AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT		
(39)	374493	*OMIT* POLYMER ASPHALTIC EMULSION	TON	-31.0	☆ \$1,120.00	☆	-\$34,720.00	\$926.00	-\$28,706.00	\$820.00	-\$25,420.00		
(40)	375001	*OMIT* SCREENINGS 3/8"	SQYD	-21,316.0	☆ \$1.00	☆	-\$21,316.00	\$3.00	-\$63,948.00	\$1.90	-\$40,500.40		
(41)	374493	*OMIT* POLYMER ASPHALTIC EMULSION	TON	-27.0		☆	-\$30,240.00	\$926.00	-\$25,002.00	\$820.00	-\$22,140.00		
(42)	375001	*OMIT* SCREENINGS 5/16"	SQYD	-21,316.0		☆	-\$21,316.00	\$2.60	-\$55,421.60	\$1.80	-\$38,368.80		
46	390132	HOT MIX ASPHALT (TYPE A), 2 lifts, total 3" thick	TON	3,477.2	\$151.00		\$525,057.20	\$170.00	\$591,124.00	\$178.74	\$621,514.73		
47	397005	TACK COAT (0.08-0.15 gal/sqyd)	TON	13.3	\$1,050.00		\$13,965.00	\$12,000.00	\$159,600.00	\$756.00	\$10,054.80		
	TOTAL:					☆	\$431,430.20		\$577,646.40		\$505,140.33		
		TOTAL CONTRACT WITH BID ADD	ITIVE 1	INCLUDED:	\$2,748,226.66			\$4,290,0	028.28	\$2,952,260.32			

		BID ADDITIVE 2, Goose Road, CR 640, F	ulverize	roadbed, grad	e, compact and 4"	con	npacted HMA	wearing course, M.	P. 0.00 TO M.P. 1.	.20	
ITEM	ITEM		UNIT	ESTIMATED				UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE		AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
(39)	374493	*OMIT* POLYMER ASPHALTIC EMULSION	TON	-31.0		☆	-\$34,720.00	\$926.00	-\$28,706.00	\$820.00	-\$25,420.00
(40)	375001	*OMIT* SCREENINGS 3/8"	SQYD	-21,316.0	\$1.00	☆	-\$21,316.00	\$3.00	-\$63,948.00	\$1.90	-\$40,500.40
(41)	374493	*OMIT* POLYMER ASPHALTIC EMULSION	TON	-27.0	\$1,120.00	⋫	-\$30,240.00	\$926.00	-\$25,002.00	\$820.00	-\$22,140.00
(42)	375001	*OMIT* SCREENINGS 5/16"	SQYD	-21,316.0	\$1.00	☆	-\$21,316.00	\$2.60	-\$55,421.60	\$1.80	-\$38,368.80
46	390132	HOT MIX ASPHALT (TYPE A), 2 lifts, total 4" thick	TON	4,636.2	\$151.00		\$700,066.20	\$170.00	\$788,154.00	\$178.74	\$828,674.39
47	397005	TACK COAT (0.08-0.15 gal/sqyd)	TON	13.3	\$1,050.00		\$13,965.00	\$12,000.00	\$159,600.00	\$756.00	\$10,054.80
	TOTAL:					☆	\$606,439.20		\$774,676.40		\$712,299.99
		TOTAL CONTRACT WITH BID ADDI	TIVE 2	INCLUDED:	\$2,923,235.66		\$4,487,058.28		\$3,159,419.98		

			DBE GOAL:		Doolittle Construction, LLC Sacramento, CA NO. 3		ENGINEERS		Pavement Coatings Co. Sacramento, CA NO. 4 0%	
	☆ =	Corrected Amount					0%	o l	0%	/o
		BASE BID, Primro			-	ble Chip Seal, M.P.	0.00 TO M.P. 1.43			
NO.	CODE	ITEM DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1		MOBILIZATION	LS	1.0	\$177,016.00	\$177,016.00	\$270,000.00	\$270,000.00	\$197,919.92	\$197,919.92
2		DEVELOP WATER SUPPLY	LS	1.0	\$28,078.40	\$28,078.40	\$24,000.00	\$24,000.00	\$34,000.00	\$34,000.00
3		CONSTRUCTION AREA SIGNS	LS	1.0	\$10,200.00	\$10,200.00	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00
4	120100	TRAFFIC CONTROL SYSTEM	LS	1.0	\$228,360.00	\$228,360.00	\$240,000.00	\$240,000.00	\$14,000.00	\$14,000.00
5	130200	PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1.0	\$2,550.00	\$2,550.00	\$14,000.00	\$14,000.00	\$19,000.00	\$19,000.00
6		TYPE III, MICRO-SURFACING LEVELING COURSE	SQYD	74,884.0	\$3.58	\$268,084.72	\$8.00	\$599,072.00	\$4.00	\$299,536.00
		POLYMER ASPHALTIC EMULSION								
7		(chip seal, .3045 gal/sqyd)	TON	109.0	\$866.00	\$94,394.00	\$926.00	\$100,934.00	\$1,100.00	\$119,900.00
8	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	SQYD	74,884.0	\$1.93	\$144,526.12	\$3.00	\$224,652.00	\$1.95	\$146,023.80
9	27//02	POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)	TON	94.0	\$876.00	\$82,344.00	\$926.00	\$87,044.00	\$1,100.00	\$103,400.00
10		SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	74,884.0	\$1.84	\$137,786.56	\$2.60	\$194,698.40	\$1,100.00	\$146,023.80
11		PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	LF	24,288.5	\$0.76	\$18,459.26	\$0.35	\$8,500.98	\$0.75	\$18,216.38
12		PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	LF	48,577.0	\$0.34		\$0.30	\$14,573.10	\$0.40	\$19,430.80
13		PAINT PAVEMENT MARKINGS	SQFT	43.0	\$4.48	\$192.64	\$24.50	\$1,053.50	\$5.00	\$215.00
		٦	OTAL PRI	MROSE ROAD:		\$1,208,507.88		\$1,783,527.98		\$1,121,165.70
		Lilac Road	l, CR 605,	Leveling cours	e with Double Chip	Seal, M.P. 0.00 To	O M.P. 1.43			
ITEM	ITEM		UNIT	ESTIMATED			UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
14	378000	TYPE III, MICRO-SURRFACING LEVELING COURSE	SQYD	23,042.0	\$3.58	\$82,490.36	\$8.00	\$184,336.00	\$4.00	\$92,168.00
45	274402	POLYMER ASPHALTIC EMULSION	TON	24.0	¢055.00	620 444 00	¢026.00	624 404 00	¢4 400 00	<b>☆</b> \$37,400.00
15 16		(chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	TON SQYD	34.0 23.042.0	\$866.00 \$1.93	\$29,444.00 \$44,471.06	\$926.00 \$3.00	\$31,484.00 \$69,126.00	\$1,100.00 \$1.95	\$44.931.90
10	373001	POLYMER ASPHALTIC EMULSION	JUID	23,042.0	\$1.95	344,471.00	\$5.00	\$69,126.00	\$1.95	344,931.90
17	374493	(chip seal, .2030 gal/sqyd)	TON	29.0	\$876.00	\$25,404.00	\$926.00	\$26,854.00	\$1,100.00	\$31,900.00
18		SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	23,042.0	\$1.84	\$42,397.28	\$2.60	\$59,909.20	\$1.95	\$44,931.90
19		PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	LF	7,615.0	\$0.76	\$5,787.40	\$0.35	\$2,665.25	\$0.80	\$6,092.00
20		PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	LF	15,230.0	\$0.34	\$5,178.20	\$0.30	\$4,569.00	\$0.35	\$5,330.50
21	840666	PAINT PAVEMENT MARKINGS			70.0					1 - ,
		TAINT LAVEINENT MAININGS	SQFT	139.0	\$4.48	\$622.72	\$24.50	\$3,405.50	\$5.00	\$695.00
			TOTA	L LILAC ROAD:	\$4.48	\$622.72 \$235,795.02	\$24.50	\$3,405.50 \$382,348.95		
ITENA	ITENA		TOTA d, CR 623	L LILAC ROAD:	\$4.48	\$622.72	\$24.50 TO M.P. 3.24		\$5.00	\$695.00
ITEM	ITEM	Poppy Roa	TOTA d, CR 623 UNIT	L LILAC ROAD: , Leveling cour ESTIMATED	\$4.48 se with Double Ch	\$622.72 \$235,795.02 p Seal, M.P. 0.00 1	\$24.50 TO M.P. 3.24 UNIT	\$382,348.95	\$5.00 UNIT	\$695.00 \$263,449.30
NO.	CODE	Poppy Roa	d, CR 623 UNIT CODE	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY	\$4.48 se with Double Ch	\$622.72 \$235,795.02 p Seal, M.P. 0.00 T	\$24.50 TO M.P. 3.24 UNIT PRICE	\$382,348.95 AMOUNT	\$5.00 UNIT PRICE	\$695.00 \$263,449.30 AMOUNT
	CODE	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE	TOTA d, CR 623 UNIT	L LILAC ROAD: , Leveling cour ESTIMATED	\$4.48 se with Double Ch	\$622.72 \$235,795.02 p Seal, M.P. 0.00 1	\$24.50 TO M.P. 3.24 UNIT	\$382,348.95	\$5.00 UNIT	\$695.00 \$263,449.30
NO. 22	37800	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION	d, CR 623 UNIT CODE SQYD	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY 54,580.0	\$4.48 se with Double Chi UNIT PRICE \$3.58	\$622.72 \$235,795.02 p Seal, M.P. 0.00 T AMOUNT \$195,396.40	\$24.50 TO M.P. 3.24 UNIT PRICE \$8.00	\$382,348.95 <b>AMOUNT</b> \$436,640.00	UNIT PRICE \$4.00	\$695.00 \$263,449.30 AMOUNT \$218,320.00
NO.	37800 374493	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE	d, CR 623 UNIT CODE	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY	\$4.48 se with Double Ch	\$622.72 \$235,795.02 p Seal, M.P. 0.00 T	\$24.50 TO M.P. 3.24 UNIT PRICE	\$382,348.95 AMOUNT	\$5.00 UNIT PRICE	\$695.00 \$263,449.30 AMOUNT
NO. 22 23	37800 374493	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)	d, CR 623 UNIT CODE SQYD TON	L LILAC ROAD: , Leveling cour. ESTIMATED QUANTITY 54,580.0	\$4.48 se with Double Chi UNIT PRICE \$3.58 \$866.00	\$622.72 \$235,795.02 p Seal, M.P. 0.00 T AMOUNT \$195,396.40 \$69,280.00	\$24.50 TO M.P. 3.24 UNIT PRICE \$8.00 \$926.00	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00	\$695.00 \$263,449.30 AMOUNT \$218,320.00 \$88,000.00
NO. 22 23	37800 374493 375001	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	d, CR 623 UNIT CODE SQYD TON	L LILAC ROAD: , Leveling cour. ESTIMATED QUANTITY 54,580.0	\$4.48 se with Double Chi UNIT PRICE \$3.58 \$866.00	\$622.72 \$235,795.02 p Seal, M.P. 0.00 T AMOUNT \$195,396.40 \$69,280.00	\$24.50 TO M.P. 3.24 UNIT PRICE \$8.00 \$926.00	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00	\$695.00 \$263,449.30 AMOUNT \$218,320.00 \$88,000.00 \$106,431.00
22 23 24 25 26	37800 374493 375001 374493 375001	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	TOTA d, CR 623 UNIT CODE SQYD TON SQYD TON SQYD	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84	\$622.72 \$235,795.02 \$P Seal, M.P. 0.00 T AMOUNT \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$100,427.20	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$926.00  \$926.00  \$2.60	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1,95 \$1,100.00 \$1.95	\$695.00 \$263,449.30 AMOUNT \$218,320.00 \$88,000.00 \$106,431.00 \$74,800.00 \$106,431.00
22 23 24 25 26 27	37800 374493 375001 374493 375001 840656	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	TOTA  d, CR 623  UNIT  CODE  SQYD  TON  SQYD  TON  SQYD  LF	L LILAC ROAD:  Leveling cour.  ESTIMATED QUANTITY  54,580.0  80.0  54,580.0  68.0  54,580.0  17,188.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84 \$0.76	\$622.72 \$235,795.02 IP Seal, M.P. 0.00 1 AMOUNT \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$100,427.20 \$\$ \$13,062.88	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$926.00  \$926.00  \$0.35	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$1,100.00 \$1.95 \$0.80	\$695.00 \$263,449.30 AMOUNT \$218,320.00 \$88,000.00 \$106,431.00 \$74,800.00 \$106,431.00 \$13,750.40
22 23 24 25 26 27 28	37840 374493 375001 374493 375001 840656 840656	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	TOTA  d, CR 623  UNIT CODE  SQYD  TON SQYD  TON SQYD  LF LF	L LILAC ROAD: Leveling cour. ESTIMATED QUANTITY 54,580.0  80.0 54,580.0  68.0 54,580.0  17,188.0 34,376.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84 \$0.76 \$0.34	\$622.72 \$235,795.02 IP Seal, M.P. 0.00 TO AMOUNT \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$100,427.20 \$13,062.88 \$11,687.84	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$926.00  \$92.60  \$0.35  \$0.30	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$1,100.00 \$0.80 \$0.35	\$695.00 \$263,449.30 AMOUNT \$218,320.00 \$88,000.00 \$106,431.00 \$74,800.00 \$106,431.00 \$13,750.40 \$12,031.60
22 23 24 25 26 27	37840 374493 375001 374493 375001 840656 840656	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	TOTA  d, CR 623  UNIT CODE SQYD  TON SQYD  TON SQYD  LF LF SQFT	LLILAC ROAD: Leveling cour. ESTIMATED QUANTITY 54,580.0  80.0 54,580.0  68.0 54,580.0 17,188.0 34,376.0 272.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84 \$0.76	\$622.72 \$235,795.02 <b>p Seal, M.P. 0.00 T AMOUNT</b> \$195,396.40  \$69,280.00  \$105,339.40  \$59,568.00  \$100,427.20  \$\$13,062.88  \$\$\$\$11,687.84	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$926.00  \$926.00  \$0.35	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$1,100.00 \$1.95 \$0.80	\$695.00 \$263,449.30 \$263,449.30 \$400.00 \$18,320.00 \$106,431.00 \$106,431.00 \$13,750.40 \$12,031.60 \$13,360.00
22 23 24 25 26 27 28	37840 374493 375001 374493 375001 840656 840656	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	TOTA  d, CR 623  UNIT CODE  SQYD  TON SQYD  TON SQYD  LF LF SQFT TOTAL	L LILAC ROAD: Leveling cour. ESTIMATED QUANTITY 54,580.0  80.0 54,580.0  68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD:	\$4.48  Se with Double Chi  UNIT PRICE  \$3.58  \$866.00  \$1.93  \$876.00  \$1.84  \$0.76  \$0.34  \$4.48	\$622.72 \$235,795.02 <b>p Seal, M.P. 0.00 T AMOUNT</b> \$195,396.40  \$69,280.00  \$105,339.40  \$59,568.00  \$100,427.20  \$\$13,062.88  \$\$11,687.84  \$1,218.56  \$555,980.28	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$3.00  \$926.00  \$0.35  \$0.30  \$24.50	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$1,100.00 \$0.80 \$0.35	\$695.00 \$263,449.30 AMOUNT \$218,320.00 \$88,000.00 \$106,431.00 \$74,800.00 \$106,431.00 \$13,750.40 \$12,031.60
22 23 24 25 26 27 28 29	37800 374493 375001 374493 375001 840656 840666	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	TOTA d, CR 623 UNIT CODE SQYD TON SQYD LF LF SQFT TOTAL ay, CR 608	L LILAC ROAD:  , Leveling cour.  ESTIMATED QUANTITY  54,580.0  54,580.0  68.0  54,580.0  17,188.0  34,376.0  272.0  POPPY ROAD:  B, Leveling cour.	\$4.48  Se with Double Chi  UNIT PRICE  \$3.58  \$866.00  \$1.93  \$876.00  \$1.84  \$0.76  \$0.34  \$4.48	\$622.72 \$235,795.02 <b>p Seal, M.P. 0.00 T AMOUNT</b> \$195,396.40  \$69,280.00  \$105,339.40  \$59,568.00  \$100,427.20  \$\$13,062.88  \$\$\$\$11,687.84	\$24.50  O M.P. 3.24  UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.35 \$0.30 \$24.50	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00	\$5.00  UNIT PRICE \$4.00  \$1,100.00  \$1.95  \$1,100.00  \$0.35  \$0.35  \$5.00	\$695.00 \$263,449.30 \$263,449.30 \$400.00 \$18,320.00 \$106,431.00 \$106,431.00 \$13,750.40 \$12,031.60 \$13,360.00
22 23 24 25 26 27 28	37840 374493 375001 374493 375001 840656 840656	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	TOTA  d, CR 623  UNIT CODE  SQYD  TON SQYD  TON SQYD  LF LF SQFT TOTAL	L LILAC ROAD: Leveling cour. ESTIMATED QUANTITY 54,580.0  80.0 54,580.0  68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD:	\$4.48  Se with Double Chi  UNIT PRICE  \$3.58  \$866.00  \$1.93  \$876.00  \$1.84  \$0.76  \$0.34  \$4.48	\$622.72 \$235,795.02 <b>p Seal, M.P. 0.00 T AMOUNT</b> \$195,396.40  \$69,280.00  \$105,339.40  \$59,568.00  \$100,427.20  \$\$13,062.88  \$\$11,687.84  \$1,218.56  \$555,980.28	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$3.00  \$926.00  \$0.35  \$0.30  \$24.50	\$382,348.95 AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$1,100.00 \$0.80 \$0.35	\$695.00 \$263,449.30 \$263,449.30 \$400.00 \$18,320.00 \$106,431.00 \$106,431.00 \$13,750.40 \$12,031.60 \$13,360.00
22 23 24 25 26 27 28 29	374493 375001 374493 375001 374493 375001 840656 840666	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)  PAINT PAVEMENT MARKINGS	TOTAL d, CR 623 UNIT CODE SQYD TON SQYD TON SQYD LF LF SQFT TOTAL ay, CR 608 UNIT	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: 6, Leveling cour ESTIMATED	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84 \$0.76 \$0.34 \$4.48  Se with Double Chi	\$622.72 \$235,795.02 p Seal, M.P. 0.00  AMOUNT \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$100,427.20 \$\$13,062.88 \$\$11,687.84 \$11,218.56 \$555,980.28 ip Seal, M.P. 0.00	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$3.00  \$926.00  \$2.60  \$0.35  \$0.30  \$24.50  TO M.P. 0.85  UNIT	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$56,015.80 \$10,312.80 \$6,664.00 \$902,328.60	\$5.00  UNIT PRICE \$4.00  \$1,100.00 \$1.95  \$1,100.00 \$0.30 \$0.35 \$0.35  UNIT	\$695.00 \$263,449.30 \$263,449.30 \$218,320.00 \$88,000.00 \$106,431.00 \$14,800.00 \$13,750.40 \$12,031.60 \$13,60.00 \$621,124.00
22 23 24 25 26 27 28 29 ITEM NO.	374493 375001 374493 375001 374493 375001 840656 840666	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)  PAINT PAVEMENT MARKINGS  Daphne Wa	TOTAL d, CR 623 UNIT CODE SQYD TON SQYD TON SQYD LF LF SQFT TOTAL SQFT TOTAL SQFT CODE	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: 3, Leveling cour ESTIMATED QUANTITY	\$4.48  SE WITH DOUBLE CHI  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84 \$0.76 \$0.34 \$4.48  SE WITH DOUBLE CHI  UNIT PRICE	\$622.72 \$235,795.02 p Seal, M.P. 0.00 1  AMOUNT \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$100,427.20 \$\$13,062.88 \$\$11,687.84 \$11,218.56 \$555,980.28 ip Seal, M.P. 0.00	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$3.00  \$926.00  \$2.60  \$0.35  \$0.30  \$24.50  TO M.P. 0.85  UNIT PRICE	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$5,015.80 \$10,312.80 \$6,664.00 \$902,328.60  AMOUNT	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$0.80 \$0.35 \$5.00  UNIT PRICE	\$695.00 \$263,449.30 \$263,449.30 \$218,320.00 \$88,000.00 \$106,431.00 \$13,750.40 \$12,031.60 \$13,750.40 \$12,031.60
22 23 24 25 26 27 28 29 ITEM NO.	37800 374493 375001 374493 375001 840656 840666 ITEM CODE 37800	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)  PAINT PAVEMENT MARKINGS  Daphne Wa	TOTAL d, CR 623 UNIT CODE SQYD TON SQYD TON SQYD LF LF SQFT TOTAL SQFT TOTAL SQFT CODE	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: 3, Leveling cour ESTIMATED QUANTITY	\$4.48  SE WITH DOUBLE CHI  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84 \$0.76 \$0.34 \$4.48  SE WITH DOUBLE CHI  UNIT PRICE	\$622.72 \$235,795.02 p Seal, M.P. 0.00 1  AMOUNT \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$100,427.20 \$\$13,062.88 \$\$11,687.84 \$11,218.56 \$555,980.28 ip Seal, M.P. 0.00	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$3.00  \$926.00  \$2.60  \$0.35  \$0.30  \$24.50  TO M.P. 0.85  UNIT PRICE	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$5,015.80 \$10,312.80 \$6,664.00 \$902,328.60  AMOUNT	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$0.80 \$0.35 \$5.00  UNIT PRICE	\$695.00 \$263,449.30 \$263,449.30 \$218,320.00 \$18,320.00 \$106,431.00 \$13,750.40 \$12,031.60 \$1,360.00 \$621,124.00 \$4,360.00 \$57,360.00
22 23 24 25 26 27 28 29 ITEM NO.	374493 375001 374493 375001 374493 375001 840656 840666 ITEM CODE 37800	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd) SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Water of the description TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd) SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	TOTA  d, CR 623  UNIT CODE  SQYD  TON SQYD  TON SQYD  LF LF SQFT TOTAL SY, CR 608 SQYD  CODE SQYD	L LILAC ROAD:  , Leveling cour.  ESTIMATED QUANTITY  54,580.0  80.0  54,580.0  68.0  54,580.0  17,188.0  34,376.0  272.0  POPPY ROAD:  SLEVEling cour.  ESTIMATED QUANTITY	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84 \$0.76 \$0.34 \$4.48  Se with Double Chi  UNIT PRICE \$3.58	\$622.72 \$235,795.02 p Seal, M.P. 0.00 1  AMOUNT \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$100,427.20 \$\$13,062.88 \$\$11,687.84 \$1,218.56 \$555,980.28 ip Seal, M.P. 0.00  AMOUNT \$51,337.20	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$926.00  \$2.60  \$0.35  \$0.30  \$24.50  TO M.P. 0.85  UNIT PRICE  \$8.00	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60  AMOUNT \$114,720.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1,95 \$1,100.00 \$1.95 \$0.80 \$0.35 \$5.00  UNIT PRICE \$4.00	\$695.00 \$263,449.30 \$263,449.30 \$218,320.00 \$18,000.00 \$106,431.00 \$13,750.40 \$12,031.60 \$13,360.00 \$621,124.00
22 23 24 25 26 27 28 29 ITEM NO. 30 31 32	374493 375001 374493 375001 374493 375001 840656 840666 ITEM CODE 37800 374493 375001	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd) PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS) PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS) PAINT PAVEMENT MARKINGS  Daphne Water of the description  TYPE III, MICRO-SURRFACING LEVELING COURSE POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd) POLYMER ASPHALTIC EMULSION	TOTAL SQYD TON SQYD LF LF SQFT TOTAL SQYD SQYD TON SQYD	L LILAC ROAD:  Leveling cour.  ESTIMATED QUANTITY  54,580.0  80.0  54,580.0  17,188.0  34,376.0  272.0  POPPY ROAD:  3, Leveling cour  ESTIMATED QUANTITY  14,340.0  21.0  14,340.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84  \$0.76 \$0.34 \$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93	\$622.72 \$235,795.02 p Seal, M.P. 0.00 T  \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$10,427.20 \$\$13,062.88 \$\$11,687.84 \$1,218.56 \$555,980.28 ip Seal, M.P. 0.00  AMOUNT \$51,337.20 \$18,186.00 \$27,676.20	\$24.50  O M.P. 3.24  UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50  TO M.P. 0.85  UNIT PRICE \$8.00 \$926.00 \$3.00	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60  AMOUNT \$114,720.00 \$19,446.00 \$43,020.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$1.95 \$0.35 \$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95	\$695.00 \$263,449.30 \$263,449.30 \$218,320.00 \$88,000.00 \$106,431.00 \$13,750.40 \$12,031.60 \$1,360.00 \$621,124.00 \$41,360.00 \$621,124.00 \$23,100.00 \$23,100.00
22 23 24 25 26 27 28 29 TITEM NO. 30 31 32 33	374493 375001 374493 375001 374493 375001 840656 840666 ITEM CODE 37800 374493 375001	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)  PAINT PAVEMENT MARKINGS  Daphne Water Description  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)	TOTAL  d, CR 623  UNIT CODE SQYD  TON SQYD  LF LF SQFT TOTAL  AY, CR 608 UNIT CODE SQYD  TON SQYD  TON TON TOTAL  TON SQYD TON TON TON TON	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: B, Leveling cour ESTIMATED QUANTITY 14,340.0 21.0 14,340.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84 \$0.76 \$0.34 \$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00	\$622.72 \$235,795.02 p Seal, M.P. 0.00  AMOUNT \$195,396.40 \$195,396.40 \$105,339.40 \$59,568.00 \$100,427.20 \$11,687.84 \$11,218.56 \$555,980.28 ip Seal, M.P. 0.00  AMOUNT \$51,337.20 \$18,186.00 \$27,676.20 \$15,768.00	\$24.50  O M.P. 3.24  UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$2.60 \$0.35 \$0.30 \$24.50  TO M.P. 0.85  UNIT PRICE \$8.00 \$926.00 \$3.00 \$926.00 \$926.00 \$926.00	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$902,328.60  AMOUNT \$114,720.00 \$43,020.00 \$16,668.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$0.35 \$0.35 \$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95	\$695.00 \$263,449.30  \$263,449.30  AMOUNT \$218,320.00 \$88,000.00 \$106,431.00 \$13,750.40 \$12,031.60 \$12,031.60 \$621,124.00  AMOUNT \$57,360.00 \$23,100.00 \$21,963.00 \$19,800.00
22 23 24 25 26 27 28 29 ITEM NO. 30 31 32 33 34	374493 375001 374493 375001 374493 375001 840656 840666 ITEM CODE 37800 374493 375001	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)  PAINT PAVEMENT MARKINGS  Daphne Water Marking Leveling Course  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	TOTAL  d, CR 623  UNIT CODE  SQYD  TON SQYD  LF LF SQFT  TOTAL  SQYD  TON SQYD  TON SQYD  TON SQYD  TOTAL  SQYD  TON SQYD  TON SQYD  TON SQYD  TON SQYD	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: 3, Leveling cour ESTIMATED QUANTITY 14,340.0 14,340.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84  \$0.76 \$0.34 \$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93	\$622.72 \$235,795.02 p Seal, M.P. 0.00 1  AMOUNT \$195,396.40 \$195,339.40 \$59,568.00 \$100,427.20 ★\$11,687.84 \$11,687.84 \$11,218.56 \$555,980.28 ip Seal, M.P. 0.00  AMOUNT \$51,337.20 \$18,186.00 \$27,676.20 \$\$15,768.00 \$26,385.60	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$2.60  \$0.35  \$0.30  \$24.50  TO M.P. 0.85  UNIT PRICE  \$8.00  \$926.00  \$3.00  \$926.00  \$3.00  \$926.00  \$3.00	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$5,015.80 \$10,312.80 \$6,664.00 \$902,328.60  AMOUNT \$114,720.00 \$43,020.00 \$16,668.00 \$37,284.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$0.80 \$0.35 \$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95	\$695.00 \$263,449.30 \$263,449.30 \$218,320.00 \$18,320.00 \$106,431.00 \$13,750.40 \$12,031.60 \$12,031.60 \$12,031.60 \$21,124.00 \$23,100.00 \$27,963.00 \$19,800.00 \$27,963.00
22 23 24 25 26 27 28 29 ITEM NO. 30 31 32 33 34 35	374493 375001 374493 375001 374493 375001 3740666 840666 840666 37800 374493 375001 374493 375001 840656	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)  PAINT PAVEMENT MARKINGS  Daphne Water Marking Leveling Course  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .3030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	TOTA  d, CR 623  UNIT CODE  SQYD  TON SQYD  LF LF SQFT TOTA SQYD  TON SQYD  LF	L LILAC ROAD:  , Leveling cour  ESTIMATED QUANTITY  54,580.0  80.0  54,580.0  68.0  54,580.0  17,188.0  34,376.0  272.0  POPPY ROAD: 3, Leveling cour  ESTIMATED QUANTITY  14,340.0  18.0  14,340.0  4,469.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58 \$866.00 \$1.93 \$876.00 \$1.84 \$0.76 \$0.34 \$4.48  Se with Double Ch  UNIT PRICE \$3.58 \$866.00 \$1.93 \$876.00 \$1.84 \$0.76	\$622.72 \$235,795.02 p Seal, M.P. 0.00 1  AMOUNT \$195,396.40 \$69,280.00 \$105,339.40 \$59,568.00 \$100,427.20 \$\$13,062.88 \$\$11,687.84 \$11,218.56 \$555,980.28 ip Seal, M.P. 0.00  AMOUNT \$51,337.20 \$18,186.00 \$27,676.20 \$\$26,385.60 \$\$3,396.44	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$2.60  \$0.35  \$0.30  \$24.50  TO M.P. 0.85  UNIT PRICE  \$8.00  \$926.00  \$3.00  \$926.00  \$3.00  \$926.00  \$3.00	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$6,015.80 \$10,312.80 \$6,664.00 \$902,328.60  AMOUNT \$114,720.00 \$43,020.00 \$43,020.00 \$16,668.00 \$37,284.00 \$1,564.15	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$0.80 \$0.35 \$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$4.00 \$1,100.00 \$1.95 \$0.80 \$0.80	\$695.00 \$263,449.30  \$263,449.30  AMOUNT \$218,320.00 \$88,000.00 \$106,431.00 \$13,750.40 \$12,031.60 \$12,031.60 \$12,031.60 \$21,124.00  AMOUNT \$57,360.00 \$23,100.00 \$27,963.00 \$19,800.00 \$3,575.20
22 23 24 25 26 27 28 29 ITEM NO. 30 31 32 33 34	374493 375001 374493 375001 840656 840656 840666  ITEM CODE 37800 374493 375001 374493 375001 840656 840656	Poppy Roa  ITEM DESCRIPTION  TYPE III, MICRO-SURRFACING LEVELING COURSE  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)  PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)  PAINT PAVEMENT MARKINGS  Daphne Water Marking Leveling Course  POLYMER ASPHALTIC EMULSION (chip seal, .3045 gal/sqyd)  SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)  POLYMER ASPHALTIC EMULSION (chip seal, .2030 gal/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)  SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	TOTAL  d, CR 623  UNIT CODE  SQYD  TON SQYD  LF LF SQFT  TOTAL  SQYD  TON SQYD  TON SQYD  TON SQYD  TOTAL  SQYD  TON SQYD  TON SQYD  TON SQYD  TON SQYD	L LILAC ROAD: , Leveling cour ESTIMATED QUANTITY 54,580.0 80.0 54,580.0 68.0 54,580.0 17,188.0 34,376.0 272.0 POPPY ROAD: 3, Leveling cour ESTIMATED QUANTITY 14,340.0 14,340.0	\$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93  \$876.00 \$1.84  \$0.76 \$0.34 \$4.48  Se with Double Chi  UNIT PRICE \$3.58  \$866.00 \$1.93	\$622.72 \$235,795.02 p Seal, M.P. 0.00 1  AMOUNT \$195,396.40 \$195,339.40 \$59,568.00 \$100,427.20 ★\$11,687.84 \$11,687.84 \$11,218.56 \$555,980.28 ip Seal, M.P. 0.00  AMOUNT \$51,337.20 \$18,186.00 \$27,676.20 \$\$15,768.00 \$26,385.60	\$24.50  TO M.P. 3.24  UNIT PRICE  \$8.00  \$926.00  \$2.60  \$0.35  \$0.30  \$24.50  TO M.P. 0.85  UNIT PRICE  \$8.00  \$926.00  \$3.00  \$926.00  \$3.00  \$926.00  \$3.00	\$382,348.95  AMOUNT \$436,640.00 \$74,080.00 \$163,740.00 \$62,968.00 \$141,908.00 \$5,015.80 \$10,312.80 \$6,664.00 \$902,328.60  AMOUNT \$114,720.00 \$43,020.00 \$16,668.00 \$37,284.00	\$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95 \$0.80 \$0.35 \$5.00  UNIT PRICE \$4.00 \$1,100.00 \$1.95	\$695.00 \$263,449.30 \$263,449.30 \$218,320.00 \$106,431.00 \$106,431.00 \$13,750.40 \$12,031.60 \$12,031.60 \$621,124.00 \$621,124.00 \$23,100.00 \$27,963.00 \$19,800.00

	Goose Road, CR 640, Pulverize roadbed, grade, and cor					truction, LLC ento, CA	ENGINEERS		Pavement Coatings Co. Sacramento, CA NO. 4	
ITEM	ITEM	Goose Road, CR 640, Pulverize	UNIT	grade, and con ESTIMATED	npact, with Double	Chip Seal wearing	g course , M.P. 0.00 UNIT	TO M.P. 1.20	UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
38	303000	PULVERIZED ROADBED	SQYD	21,316.0	\$10.64	\$226,802.24	\$10.40	\$221,686.40	\$12.00	\$255,792.00
		POLYMER ASPHALTIC EMULSION								
39	374493	(chip seal, .3045 gal/sqyd)	TON	31.0	\$866.00	\$26,846.00	\$926.00	\$28,706.00	\$1,100.00	\$34,100.00
40	375001	SCREENINGS 3/8" (chip seal, 23-30 lbs/sqyd)	SQYD	21,316.0	\$1.93	\$41,139.88	\$3.00	\$63,948.00	\$1.95	\$41,566.20
		POLYMER ASPHALTIC EMULSION								
41	374493	(chip seal, .2030 gal/sqyd)	TON	27.0	\$876.00	\$23,652.00	\$926.00	\$25,002.00	\$1,100.00	\$29,700.00
42	375001	SCREENINGS 5/16" (chip seal, 12-20 lbs/sqyd)	SQYD	21,316.0	\$1.84	\$39,221.44	\$2.60	\$55,421.60	\$1.95	\$41,566.20
43	840656	PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)	LF	6,334.0	\$0.76	<b>☆</b> \$4,813.84	\$0.35	\$2,216.90	\$0.80	\$5,067.20
44	840656	PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)	LF	12,668.0	\$0.34	\$4,307.12	\$0.30	\$3,800.40	\$0.40	\$5,067.20
45	840666	PAINT PAVEMENT MARKINGS	SQFT	191.0	\$4.48	\$855.68	\$24.50	\$4,679.50	\$5.00	\$955.00
		TOTAL GOO	SE ROAD (I	Base Bid only):	\$367,638.20		\$405,460.80		\$413,813.80	
		TOTAL CONTRACT W	TH BASE	BID ONLY:		\$2,514,319.02	\$3,712,381.88		☆ \$2,582,675.40	

		BID ADDITIVE 1, Goose Road, CR 640, F	ulverize	roadbed, grad	e, compact and 3"	compacted HMA	wearing course, M.	P. 0.00 TO M.P. 1	.20	
ITEM	ITEM		UNIT	ESTIMATED			UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
(39)	374493	*OMIT* POLYMER ASPHALTIC EMULSION	TON	-31.0	\$866.00	-\$26,846.00	\$926.00	-\$28,706.00	\$1,100.00	-\$34,100.00
(40)	375001	*OMIT* SCREENINGS 3/8"	SQYD	-21,316.0	\$1.93	-\$41,139.88	\$3.00	-\$63,948.00	\$1.95	-\$41,566.20
(41)	374493	*OMIT* POLYMER ASPHALTIC EMULSION	TON	-27.0	\$876.00	-\$23,652.00	\$926.00	-\$25,002.00	\$1,100.00	-\$29,700.00
(42)	375001	*OMIT* SCREENINGS 5/16"	SQYD	-21,316.0	\$1.84	-\$39,221.44	\$2.60	-\$55,421.60	\$1.95	-\$41,566.20
46	390132	HOT MIX ASPHALT (TYPE A), 2 lifts, total 3" thick	TON	3,477.2	\$240.80	\$837,309.76	\$170.00	\$591,124.00	\$202.00	\$702,394.40
47	397005	TACK COAT (0.08-0.15 gal/sqyd)	TON	13.3	\$1,344.00	\$17,875.20	\$12,000.00	\$159,600.00	\$800.00	\$10,640.00
	TOTAL:					\$724,325.64		\$577,646.40		\$566,102.00
	TOTAL CONTRACT WITH BID ADDITIVE 1 INCLUDED:					644.66	\$4,290,	028.28	\$3,148,777.40	

		BID ADDITIVE 2, Goose Road, CR 640	. Pulverize	roadbed, grad	e, compact and 4"	compacted HMA v	wearing course, M.	P. 0.00 TO M.P. 1.	20	
ITEM	ITEM		UNIT	ESTIMATED			UNIT		UNIT	
NO.	CODE	ITEM DESCRIPTION	CODE	QUANTITY	UNIT PRICE	AMOUNT	PRICE	AMOUNT	PRICE	AMOUNT
(39)	374493	*OMIT* POLYMER ASPHALTIC EMULSION	TON	-31.0	\$866.00	-\$26,846.00	\$926.00	-\$28,706.00	\$1,100.00	-\$34,100.00
(40)	375001	*OMIT* SCREENINGS 3/8"	SQYD	-21,316.0	\$1.93	-\$41,139.88	\$3.00	-\$63,948.00	\$1.95	-\$41,566.20
(41)	374493	*OMIT* POLYMER ASPHALTIC EMULSION	TON	-27.0	\$876.00	-\$23,652.00	\$926.00	-\$25,002.00	\$1,100.00	-\$29,700.00
(42)	375001	*OMIT* SCREENINGS 5/16"	SQYD	-21,316.0	\$1.84	-\$39,221.44	\$2.60	-\$55,421.60	\$1.95	-\$41,566.20
46	390132	HOT MIX ASPHALT (TYPE A), 2 lifts, total 4" thick	TON	4,636.2	\$224.00	\$1,038,508.80	\$170.00	\$788,154.00	\$200.00	\$927,240.00
47	397005	TACK COAT (0.08-0.15 gal/sqyd)	TON	13.3	\$1,344.00	\$17,875.20	\$12,000.00	\$159,600.00	\$800.00	\$10,640.00
	TOTAL:					\$925,524.68		\$774,676.40		\$790,947.60
		TOTAL CONTRACT WITH BID ADD	ITIVE 2	INCLUDED:	\$3,439,843.70		\$4,487,0	058.28	\$3,373,623.00	